Notes on Factoring by Greatest Common Factor Name

Perhaps, the process of factoring by removing the greatest common factor can be best stated as
the reverse distributive property. In the distributive property, one is multiplying a certain factor
to all of the terms. In factoring by GCF, one is dividing all of the terms by the GCF.

Consider this expression which utilizes the distributive property: 5x*(4x* +3).

After simplifying using the distributive property, you get 20x° +15x%.

This section will now demonstrate how to factor by removing the GCF.

Let's now take your answer to the problem above: 20x°® +15x”.

Using what was learned in the last lesson, what is the GCF of the two terms (20x® and 15x°)?
Again, remember that this process is like the reverse distributive property.

So, let's now write the GCF in front of parentheses and divide (instead of multiplying) each of

terms by it.
20x° +15x°

As it turns out, this process yields the original question in the problem above.

Factor the greatest common factor: 8y’ —12y° +4y.

The GCF is 4y, so it will be placed in front of the parentheses, and all of the terms in the
expression will be divided by 4y.

. . QS 1 Relations and Functions PRC Coordinate Plane (R«
Jationship between x and v) 1-49 odd pg. 62-63 - o
Tt MR et e A T e ey CUNCUONS O ANA IKange )
Nenendent and Tndenendent Variahl
= o mn e g e ¢ e e
TR~ ATt ¥ ooomoes Rl YYeen 1 wafdprer T pedsdinritioe - oot sunuarus . acu
aues anu Jommareand” svinewors T I — - =
4 2.2 Lincar Equations 1.0 Standard Form 1-1
7 odd pg. 68-69 L T
Linear cuncuons oo ot oo oo 9 VY UTKDUOK PUge o 10-
sen e x and v intercents (at x-int  v=0) (at v-int x=0%__ , __________ . ____ _ _,  __
. i . . . P . IR - - snort =
Slope L0 Change 1n ¥ over thé change X (Ay/AX) 1-£5 odd pg. /4-/>
WWaal- e — s —
R Warkhanl naaa O r U page -
X1 - Xz
Prooress Grades Due IOwiiz 220 throneh 2230 0 oo ool o e e e e — o .




